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Assessed Outcomes

NS4.3 Percentage operations
PAS43 Uses the algebraic symbol system to simplify algebraic
expressions | -

Directions to Candidates

o Show all working on the paper
o Calculators may be used

o Good Luck!!
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o) 10% b) 6% ¢) 50% d) 54%
| 2. Ag a decimal, 30% can be written as: ” 1\4
' o | , Im
a)0.3 b) 0.03 ¢) 3.0 d) 0.003 L
3. % as a percentage is: ) L \\\
) i i 1m ;_i!
C() 5% b) 10% - C) )20% d) 50% _ __/--"!
4. $40 increased by 8% is YE
, i\lm y
) $43.20 b) $48.00 ¢) $50.00 “d) $38.00
5. Simplify: a+a+2a+b+b+3b= %
_ _ Im /
o a* +b’° by a® +2a+b" +3b o)-4a+5b d) 2a°3b°
6. Simplify: axax2axbxbx3b= H o
' ‘ [ tm /
a) 4ax5b b) 2a° x 35" ¢) 6a°F’ d)y 9ab L
S~
7. Simplify: ~3x+8y-5x—0y= N
a) 8x+14y b) 2x—2) c) 8x—2y d) —8x+2y R




. Complete the sentences below by choosing the correct words: 7 . ‘

o

Commission; M’@} unlike,  discount @y#eﬁeﬁsﬁyﬂdf'ed, coefficient " 3m

The term PERCENT means“ - o 7 SR

+ Inalgebrg, only ‘ terms can be added or subtracted
« A .., __isareduction in the price of anitem, ‘
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2. Find 12% of $950 - - T

3. Simplify 10p+4p-Tp=

4. si rf‘:m?g—
. Simpli —= S
PUTY | 8b¢ _ / Y

5. Fill in the missing Terms:

a) 6 Y4 ] = —30¢ - d) 42k2 . | =7% ) \ ‘

by 8pg Xt =56p"qr e | {x3xy=21x"yz

c) 3gh+|- | =15gh ) e l '-_-:185{23;,
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6. Write the foilowmg in ascendmg or'der
, 6

5.6, 68%, 6:5%, 0.55, 0.055, 1 z%%
2m
-« \ L\T\J
7. The school shot put record is 19m. If Erin threw a distance of 11.6m, what
percentage of the record distance did she throw? |
Lo2mt
| 8. The price of a television set was reduced from $800 to $700 as part of a -
discount sale, What was the percentage discount? EaR
- j:":: Zm ’ f
9, $2600 is to be split. between 3 employees: Matt 20%, Bess 35% and Karen
receives the rest. Find the amount: <3
i) Matt will receive: / i) Karen will receive:
|




10. Alan purchased a computer for $3400 and later sold it for $1000.

| a) How much money did Alan lose?

K

b) Calculate his loss as a percenfage of the cost price, correct fo 1 decimal place | i 5
’ b

.
t1. After spending 30% of his

the groceries cost?

money of groceries, a man had $49 left. How much did

(-3m) X (—2n)>< ‘(l'Siﬁj‘x Tlan =

12. Simplify,

<

.13, Simplifyt 96ef g + Sefgziﬁ 3g =

b
END OF PAPER ©




a) 4ax3b

7. Simplify:, —3x+8y—5x—6y=
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o) 8x+14y b) 2x—2Y

aima,_.m%

¢) 10% ®yen ¢) 50% d) 54%
| 2. As a decimal, 30% can be written as: _ J
. o . Im
a))0.3 b) 0.03 c)3.0 d) 0.003
3, W as a percentage is: .
a) 5% b) 10% @Noo\o d) 50% @
4. $40 increased by 8% ist _ 3
Im
(a) $43.20 b) $48.00 ¢) $50.00 " d) $38.00
5. Simplify: a+a+2a+b+b+3b= @
@ at+b° b) a® +2a+b* +3b (4a+5h d) 2a°35°
6. Simplify: axax2axbxbx3b= @
b) 2a° x3b° @%m% d) 9ab
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. Complete the sentences below by choosing the correct words:

ﬁ@v unlike,  discount, owr-ef-cns-hundred, coefficient
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2. Find 12% of $950
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4. simplify _l‘w\%l 3

345bky _

5. Fill in the missing terms:

d) 428°+ G =Tk

) 3gh+
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6. Write the following in ascending order
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7. The school shot put record is 19m. If Erin threw a distance of 11.6m, what

percentage of the record distance did she throw?
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10. Alan purchased a computer for $3400 and later soid it for $1000.

nm How much money did Alan lose? \
24G0- lood = $1400, mard togy 500,
b) Caleulate his loss as a percentage of the cost price, correct to 1 decimal place
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11, After spending 30% 30% of his money o: m«.onmzmm a man had $43 left. How puch did
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